VS/MODEL QUESTION PAPER/MID TERM/CLASS-III

QUESTIONS CONTAIN 1 MARK EACH:

1) Name an insectivores plant.
Ans: Venus flytrap
2) Write the another name of large overhead water tank.
Ans: Reservoir
3) Where do we found stilt houses?
Ans: at north-eastern part of India
4) Write the full form of PCO.
Ans: Public Call Office
5) Name the main sources of foods.
Ans: Plants and animals
6) Name two types of communication system.
Ans: A) One-to-one communication
B) Mass communication
7) Name a bird that has broad and flat beak.
Ans: Duck

8) How can we divide birds body?
Ans: Head, trunk and a tail
9)What are they called those who drives aeroplane?
Ans: Pilot

10)Name the fastest means of transport.
Ans: Aeroplane, Train

QUESTIONS CONTAIN 2 MARKS EACH:
11)Name any four activities that you can do with water?

Ans: cooking, washing clothes, rowing a boat, painting.

12)Define two type of families.
Ans: check your EVS C/W copy.

13)How did Chhotu use the pipe?
Ans: Chhotu chose the internal part of the pipe as drawing room and bed
room. But at the inside surrounding part he chose as kitchen and for other
purposes.

14)Define nutrients. Name them.
Ans: Substances which are needed for our body and can be obtained only from food
are called nutrients.

Few nutrients are carbohydrates, protein, fat, roughage, vitamins and minerals.
15)Define sign language.

Ans: Few kinds of hand expressions that are used by the deaf and dumb people to
express their feelings are called sign language.

16)How do birds use their beaks?



Ans: Birds use their beaks to eat their food and to build their nests. They also clean
and smoothen their feathers with their beaks.
17)Write four advantages of having rain.
Ans: Four advantages of having rain are,
i. Helps in ploughing in the field
ii.  Helps for surviving of all aquatic animals,
plants
ili.  Fulfills the availability of fresh water
iv. Helps to make the environment more
vegetative.
18)Why should we cook food?
Ans: We should cook food to make it healthy, tasty, soft and easily digestable.
Cooking helps to kill germs in the food.
19)What does the choice of transport depend on?
Ans: The choice of the mood of transport depends on two factors: the distance to be
travelled and the cost of travel.
20)Why do people need to work?
Ans: People need to work to earn money to meet the daily needs of their family.

QUESTIONS CONTAIN 3 MARKS EACH:
21)Make the differences through colours, shapes, margins of lotus leaf and croton leaf.
Ans: Check your EVS C/W copy
22)Define aquatic plants and animals. Give examples.

Ans: Many plants and animals grow and live in water bodies like rivers, ponds, seas
and oceans. They are known as aquatic plants and animals. Plants like lotus, water
lily etc and animals like fish, crab etc.
23)A) Where did Chhotu come first time in his life?
B) Why do you think Chhotu invited Monu to live with him in the pipe?
Ans: A) Mumbai
B) Check your EVS C/W copy (Chhotu and Monu were often same aged... ... ... with full of
happiness)
24)A) Define balanced diet.
B) Name the nutrient that is riched in body building food.
Ans: A) A diet that contains all type of nutrients in an equal amount is called
balanced diet.
B) Protein
25)A) Define communication.
B) Give any two examples of one-to —one communication system.
Ans: A) Communication is a method of sending amS/Email etc.
B) Telephone, Mobile phone.
26) Draw at least one diagram of each of the following nutrients: Carbohydrates, Protein
and Fat.
Ans: Check your EVS C/W copy.
27)A) Define evaporation.



B) Conversion of water vapour into liquid shows which process?
Ans: A) Process of changing from water to water vapour is called evaporation.
B) Condensation.

28) A) Raja wastes his food everyday. He throws it everywhere and play with it. His

father tells him not to waste food. Why?
B) Name two food items that can be steamed.
Ans: A) Foods is essential for everyone. Food producers such as farmers work hard to
produce it well. On the other way many poor people are there who are unable to
arrange enough amount of food everyday. So it should be taken according to our
need.
B) Momoz, Idli and Dhokla.
29) A) What is meant by ‘Roads of Iron’?
B) Name a vehicle that has two wheels.
Ans: A) A road that is made straightly using pairs of iron rails to make tracks on
which trains, trums is also called ‘Roads of Iron’.
B) Bi-cycle.
30) A) Name any two working places and the work done in them.
B) Which of your family members work to earn money?

Ans: A) Hospitals- treatment of patients, vaccination of children.

Schools- Teaching to students

QUESTIONS CONTAIN 5 MARKS EACH:
31) A) “Smoky clouds,
Fairs and crowds.

Village fairs,
Riders on mares.
Flocks of birds,
Clustered huts.”
Name the things that can be seen from the window of a moving train
in the given poem.
B) There is a traffic jam just beside of a hospital. Vehicles are giving out horns
randomly smoke is coming out from the vehicles. Is this good for environment?
C) What are these following symbols telling?



And: A) Smoky clouds, village fairs, ridings, flock of birds and clustered of huts.
B) The smoke and noise of vehicles is harmful for environment. Patients will
suffer from smoke and noise pollution.
C) Hospital ahead, Move at the left.
32) A) What kinds of work do you do in the school?
B) What work does Deepali do in her own house?
C) Whipotsmber of your family do work at home without getting paid?
And: A) We do different kinds of work in school. Such as,
i.  We keep our classroom clean by using the dustbins.
ii.  We decorate our school during festivals.
iii.  We perform in different activities in school.
iv.  We plant saplings around the school ground to make the environment
fresh and clean.
B) Deepali works a lot at home. She helps her mother in the kitchen. She takes
care to her siblings and for sometimes she reads her sister's books.
C) My mother, granny mainly complete all household work without getting
paid.
33) A) What are utensils made of?
B) Pranab eats junk food a lot. Though he knows that diet should be balanced.
Why do balanced diet good for our health?
C) Write the difference between baking and boiling process.
And: A) Utensils are made of several types of metals and even clay. For e.g earthen
pots. Utensils made up of steel, brass, copper, nickel etc.
B) Balanced diet is good for our health as it gives exact amount of different nutrition
in our body.
C) In baking process, foods such as roti, biscuits etc are baked direct on fire.
In boiling process, foods such as rice, eggs etc are boiled in hot water.
34) A) What is rainbow?
B) How is the rainbow appeared in the sky?
C) Write any two advantages of having rain.
And: A) Check your EVS C/W copy for No.A and B
C) Two advantages of having rain are,
i. It helps farmersin ploughing.
ii. It helpsto grow vegetation and also keep the environment fresh.
35) A) Classify the following animals according to their groups ( herbivorous,
carnivorous, omnivorous):
Cow, cat, tiger, jackal, a man, buffalo
B) Explain the life cycle of a bird.
C) Define preening.
And: A)

Herbivorous Carnivorous Omnivorous




Cow, Buffalo Tiger, Jackal A man, Cat

B) Birds life cycle completes with three main steps. These are eggs, chick and
adult bird. Female birds lay eggs in the nests and hatch them. Few days later chick
comes out from there. Parent birds take care to them and at last they grow and
become adult birds. It takes at least 25-30 days to complete the periods of life.

C) Preening is a process of cleaning and reshaping feathers on birds body with
their beak.

All diagrams and flowchart (including only mid term syllabus) are important

for the exam.]

QUESTIONS CONTAIN 2MARKS EACH:
36) Neera dances very well. Even she got award from national level dance

competition last year but she can't talk. How does she dance?

And: Neera can't talk so she is dumb but as she is able to listen sound can
response well through body movement.

37) Once Rahul, your younger brother,watch in television that feweagles are
tearing the flesh from a dead animal's body. He wants to know the reason of tearing
flesh. What will be your reply?

Ans: As eagles are carnivorous bird so they always catch their preys and tear
their flesh for eating.

38) You have an iron machine at your home. Government has not provided
electric connection in your locality till now. You are unable to use this machine.
What could be the reason behind it?

Ans: In order to run an iron machine electricity is needed as electricity is not yet
available in my home so | won't be able to use it.

39) Shaan has seen plus (+) sigh on Ambulance car but he doesn't know why
there is such kind of sign. Can you solve his problem?

Ans: This plus sign is the Red Cross that always show the medical fields. For any
urgent medical help this car is used.

40) It is announcing in your locality for every people that a musical event will be
held in your locality where many well known artists will be present. Can you say
what means of communication system are they using?

Ans: Mass communication.
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SATISH CHANDRA MEMORIAL SCHOOL
MODEL QUESTION PAPER FOR HALF YEARLY

CLASS - 1l C MATHEMATICS

SECTION - A

1. Answer the following:-
a. The standard unit of length is
b. +31=114

c.16 + =6X6

d.471+47+1 =

e.Arectangle has __ sides.

f.521=__  tensand 11 ones

g.How many fives are therein85?_
h.6141-190 =

i.36X(21X0)=

J.Akm=__ m

SECTION B

2.a.Find missing numbers :-556575 95  115.
b.Convert into km :- 3215m =

c. Draw a line segment of 7.5 cm.

d. Subtract :- 49kg 500g from 81kg

e . Which one of the following is heavier?Ans:
(an empty water bottle / a cricket bat)
f.Convertintog:-6kg=__ g

g. Write in expanded form :-222=__

h.What number is 65 hundreds?

i. What must be taken out from 4000 to make it 1111 ?



j. Observe the figure and answer the following?

a. How many corners does it have

b. How many edges does a cube have

SECTION C

3.a.Tina had Rs.701 in her purse.She bought a watch for Rs. 210. How much money left in

her purse?

b . Shop P has 475 toys .ShopQ has 119 toys more. Shop R has 16 more toys than Q. How

175 99 502 589 | 417
63 73 111 146 55
99 501 47 32 300
100 235 756 854 36

many toys are there in Shop Q.?

¢ . Two boys weigh 15kg 117g and21kg
123g.What is their total weight?

d . Find the route for Tom to reach his
home . (use the given instructions)



a) Thirty six.
b) 234+ 620.

c )65-33.
d)One hundred forty six.
e)456-345.
f)43+10+20.
g)10+20+33.
h)90+85.
e. Change into metre :-
621cm=__
i) 45km=___
f.Complete the patterns :-
i)6, 8, 10, ___ ,14,16

ii) 5, 10, ,20 ,

g .Add :- 51km 142m and 19 km.
h. Which of the following thing ismore than 1 kilogram?

i) a pencil box ii) school bag with books

i) Observe the attendance sheet of students of class Il . Complete the table and fill in the
blanks.

Class and Section Total strength Present Absent
n-A 41 38 3
IN-B 39 35 4

TOTAL CLASS il




a. Total absent in the class lll is
b. Total strength in class Ill is

J)Choose the right unit to measure the following: ( Kilograms, metres , kilometres)

SECTION D

1.Mr. G.E.O Metry

>

O 0 00

His head is a His neck is
His arms are His nose is made up of

His feet are made up of



His hands are His body is

His legs are
His ears are made up of and his buttons are made up of .
2. Mary weighs 63 kg 59 g and Alex weighs 59 kg 36 g. Who

10.

weighs less and by how much?

Ron had 54 m 20 cm of ribbon to make flowers. 29 m 39 cm was
left unused. How much ribbon was used to make flowers?

A truck was loaded with 352 kg 100 g of pumpkins and 207 kg
432 g of watermelons. Find the total weight carried by the truck.
Tailor used 1 m 235 cm of cloth to make a shirt and 2 m 105 cm
to make trousers. What is the total length of cloth used by the
tailor to make a shirt and trousers?

The girls had 3 weeks to sell tickets for their play. In the first
week, they sold 75 tickets. In the second week they sold 108
tickets and in the third week they sold 210 tickets. How may
tickets did they sell in all?

In a factory there are 35,675 workers. 10,750 workers come in
the first shift, 12,650 workers in the second shift and the rest
come in the third shift. How many workers come in the third
shift?

Charlene had a pack of 35 pencil crayons. She gave 6 to her friend Theresa. She gave
3 to her friend Mandy. How many pencil crayons does Charlene have left?

There are 235 books in a library. On Monday, 123 books are taken out. On Tuesday,
56 books are brought back. How many books are there now?.

Billy had 2 books at home. He went to the library to take out 2 more books. He then
bought 1 book. How many books does Billy have now?



MID TERM MODEL QUESTION PAPER
ENGLISH

. Write a paragraph on "Your Visit To A Railway Station' with the
help of the following points:

Points: name of the railway station—whom have you gone with—
how did the station look—people everywhere—regular trains—
ticket offices, refreshment rooms, book-stalls, tea-stalls—porters
carrying luggage—your experience in such a noisy place.

. Write a paragraph on "Your Visit To A Zoo' with the help of the
following points:

Points: name of the zoo—wild animals caged—tigers and lions
taking rest—jumping monkeys—elephants playing with each
other—alligators, crocodiles and tortoises—different colours of
birds—what is the new animal you found in the zoo.

. Write a paragraph on 'A Journey by Train' with the help of the
following points:

Points: the arrival of the train—great rush—got a comfortable
seat—the scenery on the way—different stations—various types of
passengers boarded in the compartment—the journey’s end—a
pleasant journey.

. Write a picture paragraph looking at the following picture:
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. Write a paragraph looking at the following picture:

At



. Write a picture paragraph looking at the following picture:
Identify the gender in the following sentences:
e The tigress sprang at the throat of the hunter.
e The lion carried away the child of the washerwoman.
e The king gave the wizard a prize.
e The students clapped heavily at the bandmaster's
performance.
8. Fill the blanks with A, An, The:
e Heis _ European, but hiswifeis __ Indian.
e Imet _ honourable man __ hour ago.
e  appleis__ fruit.
e  TajMahalisthe finesttombin ___ world.
. Correct the plural forms in the following sentences:
e The womans told the children storys.
e Monkeyes have long tails.
e The ladys are carrying their babis.
e These sheeps have no wool on them.
10. Rewrite the sentences using —‘s with the words un bold:
e The feathers of the bird are shiny.
e The tusks of an elephant are very expensive.
e | must return the book of my friend.
e My brother has broken my grandfather’s glasses.
11. Fill in the blanks with pronouns in place of the nouns:
| need help. Canyou help __ (1)?
e Rohan is my best friend. | share my lunch with

~N o

(o]

(Rohan).

e My friends and | are enjoying vacation. ___ ( My friends
and 1) are swimming in the pool.

e Sheena has bought five puppies. _ (puppies) are

(Sheena) puppies.



12. Rewrite the following sentences capitalizing the proper nouns:
e The yellow butterfly is my favourite. I’ve named it ricky.
e char minar is situated in hyderabad.
e eid is the prime festival of muslims.
e Gandhinagar is the capital of gujarat.
13. What was the size of the turnip?
14.Why was the old man could not pull the turnip?
15.How many persons came to help the old man?
16.Where was the shell found?
17.What did Mummy do with the shell?
18.Why was the child surprised?
19.What was the child’s wish?
20.“It is very hard to be such a little mite of a fish!”
e Where is this line taken from?
e \Who said this?
e Why was it hard for him?
21. Why was the little fish upset?
22.How did the little fish escape the mesh?
23.How do we know the little fish was happy?
24.What did the fishes do while caught in the mesh?
25.What did the little fish think that the larger fish was thankful for?
26.What did the little fish believe?
27.Who is the writer of the story ' A Little Fish Story'?
28.Why the balloons can be seen from far away in a sunny day?
29.How do the balloons behave if there’s a wind?
30.When can we see them sailing high?
31.How would they look in the sky?
32.When did Sonu first think to catch the butterfly?
33.Why did Sonu go splash into the water?
34.Why did the butterfly try to escape the spider's web?
35.What did the butterfly do after being freed?
36.Describe the process of growing of an acorn.
37.How did the oak become the forest’s pride?
38.What is the meaning of 'mossy bed' in the poem Little by Little?
39.What is the opposite word of 'mighty".
40.Why the acorn is hidden deep in the earth?

ANSWERS

7. Tigress- feminine, hunter-masculine



Lion-masculine, child-common, washerwoman-feminine

King-masculine, wizard-masculine, prize-neuter
Students-common, bandmaster-common

8. A,an an,an an,a the,the

9. Women,stories monkeys,tails ladies,babies sheep

10.The bird's feathers, an elephant’s tusks, my friend’s book, my
grandfather’s glasses

11.Me, him , we, these,her

12.The yellow butterfly is my favourite. I’ve named it Ricky.
Char Minar is in Hyderabad.
Eid is the prime festival of Muslims.
Gandhinagar is the capital of Gujarat.

13.The turnip was enormous in size.

14.The turnip was huge in size and the man was old and alone, that is
why the old man could not pull up the turnip.

15.An old woman, a boy and finally a girl came to help the old
woman.

16.The shell was found lying on the sand in a sea beach.

17.Mummy took the shell and held it to the child’s ear.

18.The child was surprised by hearing the soft, sweet and clear music
coming from the shell.

19.The child’s wish was that the reader might find a nice big shell like
he did.

20.a) The line is taken from the story A Little Fish Story.
b) The little fish said this.
¢) It was hard for him because he wanted to be like others.

21. The little fish was upset because of his size.

22. The little fish escaped the mesh by wriggling through the mesh and
slipped back into the cool, clear water.

23. After being freed from the mesh, the little fish swam here and there
and everywhere and never complained about his size.

24. The fishes floundered and splashed altogether while caught in the
mesh.



25. The little fish thought that the larger fish was thankful for their big
size.

26. The little fish believed that he could be happier if he were larger in
size.

27. Enos B. Comstock is the writer of the story A Little Fish Story.

28. The balloons can be seen from far away in a sunny day because the
market square is crowded so you can’t get nearby and also because the
balloons glow in the sun.

29. The balloons tug in the opposite way.
30. The balloons can be seen sailing high when the balloon man let it go.
31. The balloons would look pretty covering the sky.

32. Sonu first thought to catch the butterfly when it was resting on a red
rose.

33. Sonu went splash into the water because the yellow butterfly was
floating on a lotus leaf in the pond.

34. The butterfly tried to escape the spider’s web because it knew it’s
near future that the spider was going to hunt it.

35. The butterfly rested on the same places after being freed but more
cheerfully.

36. An acorn slowly grow everyday by sipping the water, spreading it’s
roots and springing it’s shoot.

37. The oak became the forest’s pride by spreading it’s slender branches
and growing tall.

38. The meaning of 'mossy bed' means the ground covered with moss
where the acorn sinks slowly.

39. The opposite word of 'mighty" is 'weak'.

40. The acorn is hidden in the earth because it is in the stage of a seed and
It needs water which it is taking from the earth only.

*kkkk
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